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1.  For the following functions, state vertical asymptotes, horizontal 
asymptotes (if they exist), x-intercepts, y-intercept, make a sign diagram, 
and then sketch the graph.

a.  
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[Maximum mark: 6]

X+a
bx+c

. (2 .
asymptotes x=—4 and y=-2, and that the point (5, 1] lies on the graph, find the

The function f is of the form f(x)= LX# —%. Given that the graph of f has

values of a, b and c.
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2.  
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1.  For the following functions, state vertical asymptotes, horizontal 

asymptotes (if they exist), x-intercepts, y-intercept, make a sign diagram, 

and then sketch the graph.
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